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A

FV / pièces 40,00        FF 48 000,00    

PV /pièces 50,00        Q.te vendus 6 000,00      

[48'000/(50-40)] 4 800,00   Point mort pièces

B

FV / pièces 40,00        FF 48 000,00    

PV /pièces 50,00        Q.te vendus 6 000,00      

[6'000*(50-40)-48'000] Bénéfice 12 000,00    

C

FV / pièces 40,00        FF 48 000,00    

PV /pièces 50,00        Q.te vendus 6 000,00      

D

FV / pièces 40,00        FF 48 000,00    

PV /pièces 50,00        Q.te vendus 6 000,00      

Delta benefice brute 20%

[(50-40)-20%] 8,00          New bénéfice

[48'000/8] 6 000,00     Point mort

E

FV / pièces 40,00        FF 48 000,00    

PV /pièces 50,00        Q.te vendus 6 000,00      

[6'000*50] CAN 300 000,00     

[300'000/48'000] Pièces 6,25                

F

Benefice 12 000,00   

[12'000/(10-20%)] 1 500,00     
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